

2023-4-172776 Cisco Connected Justice

Quote # Trace3.079295.v1

Prepared for:

LFUCG Division of Community Corrections FCDC

Courtney Spencer cspencer@lexingtonky.gov

Cisco-Naspo

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
NASPO #MA 758 2100000767					
Solution provided will need to be purchased at same time for pricing to remain consistent.					

Hardware

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	10	CS-DESK-K9	Cisco Desk - First Light (White)	\$3,713.57	\$37,135.70
2	10	CS-DESK-VESA=	VESA Adapter for Cisco Desk (Optional)	\$150.65	\$1,506.50
3	10	CS-DESK-WALL=	Wall Mount Kit for Cisco Desk (Optional)	\$136.95	\$1,369.50

Subtotal: \$40,011.70

FLEX

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	10	A-FLEX-EAM	EA Meetings -1	\$637.20	\$6,372.00

Requested Start Date: 26-Jun-2023 | Requested For: 36.00 Months

 $Automatically\ Renews\ For: No\ Auto\ Renewal|\ Billing\ Frequency: Prepaid\ Term$

Not to Exceed Pricing (NTE) applies only to Fully Committed Suites.

Pricing for Partially Committed Suites and Add-ons include Fixed Discount percentages.

Note: If Exceptional Growth (115%) is triggered in between the annual True Forward date, a quarterly True Forward will occur. Exceptional Growth (115%) only occurs in Fully Committed Suites.

Additional notes: Cisco Legal Customer Package including Cisco End User Enterprise Agreement 3.0 Program Terms and associated EA Program Guide is required to fully execute this partner quote. Cisco Legal Customer Package will be generated at time of purchase for final signature.

For Collaboration quotes:

A-FLEX / A-FLEX-3 above governed per Program Terms,

"Offer Description: Cisco Collaboration Flex Plan"/ "Offer Description: Cisco Webex"

A-FLEX-CC / A-FLEX-3-CC above governed per Program Terms,

"Offer Description: Cisco Webex Contact Cen

Trace3.079295.v1 Page: 2 of 6

FLEX

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price	
Reques	Requested Start Date : 26-Jun-2023 Requested For : 36.00 Months					
Autom	Automatically Renews For : No Auto Renewal Billing Frequency : Prepaid Term					

Subtotal: \$6,372.00

CyberData Enclosure

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	10	011554	WEBEX DESK UNIT VIDEO DEVICE CASE SECURE CASE HANDSETO	\$1,490.00	\$14,900.00

Subtotal: \$14,900.00

Cart

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	10	RPS-200	Avteq: Single display AV cart, supports display up to 70. 200 lbs load capacity.	\$623.00	\$6,230.00

Subtotal: \$6,230.00

Partner Services

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	6	BI&C	Onsite Physical Installation Professional Services	\$600.00	\$3,600.00

Assumes access provided to facility

Includes Network wired or wireless will be available

Power, ethernet, or Wifi to all locations

Jail must provide shack room during onsite installation

Trace3.079295.v1 Page: 3 of 6

Partner Services

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
2	12.5	BI&C	Remote Configuration and Programing Professional Services	\$525.00	\$6,562.50

Assumptions:

Must provide documented access for calendar integrations for each facility

Subtotal: \$10,162.50

Partner Services

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	61.5	BI&C	Ongoing Remote Configuration Services	\$525.00	\$32,287.50

Subtotal: \$32,287.50

Trace3.079295.v1 Page: 4 of 6

2023-4-172776 Cisco Connected Justice

Prepared by:

Prepared for:

Courtney Spencer

FCDC

Quote Information:

Trace3 (EST)

LFUCG Division of Community Corrections

Trace3.079295.v1

Mike Phelps

mike.phelps@trace3.com

Quote Date: 05/02/2023 Expiration Date: 06/01/2023

cspencer@lexingtonky.gov

Quote Summary

Description	Amount
Hardware	\$40,011.70
FLEX	\$6,372.00
CyberData Enclosure	\$14,900.00
Cart	\$6,230.00
Partner Services	\$10,162.50
Partner Services	\$32,287.50

Subtotal: \$109,963.70

Shipping: \$3,620.00

Total: \$113,583.70

Upon client signatory's execution of this Quote, he/she affirms that:

- 1. Client will purchase and pay Trace3 for the equipment and/or services referenced above;
- 2. Without a separate written agreement signed by Trace3 and client, equipment and/or services referenced above are provided solely subject to the terms of this Quote and the applicable terms and conditions located at http://www.trace3.com/legal
- 3. He/she is authorized to accept this Quote on behalf of client and has complied with all of client's business practices in making this purchase;
- 4. Quoted amounts exclude sales taxes, which will be charged on all U.S. shipments; and
- 5. Client is responsible for submitting exemption certificates for sales tax-exempt purchases.
- 6. Use of the equipment and/or services referenced above is subject to the applicable end-user license agreement of the manufacturer.

Trace3.079295.v1 Page: 5 of 6

LFUCG Division of Community Corrections FCDC

Signature:	
Name:	
Title:	
Date:	

Trace3.079295.v1 Page: 6 of 6